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Eit HEE fig BE |me| = 1,350 & 1,250 &
- - KE etk | |erase 4,800 K
Bt ERR
B () Ei HEE ki = |ue| (HE R
Rl TRl EMH 100( ke Bt HEE faE HE |ue] (EE
FEHh HErE e HE |uw|  (EE Hak EAR R 100 ke HE 5 = PR o 600| kg
FIF fiEE5 $t'+31°3k 250| {& =078 FEAR R, a5t 300| ke 7Ot 200| kg
= <H KP4k & IMEE A5 200| ke i EHH s 500| ke
%M T #N10A 300| {& wHE ETHY 50( ke 1EIE 5 =S &9z 600| 4%
B H9AL 7Y 4k & 5k EEN7Y 100| kg Va5 B4t 500| #
¥ & &% BEER &5 5 100| ke REA S = @5t THY) 500| ke
BiE e & x5 lzz& FEE7A, 2F5 100| ke hiEsn AXBS [EI 80| kg
5 550 {8 EE EAR RS 300| kg BE WES =k =3 100| ke
1= ZR FBEIA MITH 500| ke FES B #B 150| ke
g iR &Y. I~579‘m\= 200| kg Bt 2,130 kg
5t 2050 ke 1,100 #&
Eth HEE RiE B |me| fBE
K& EXE/S |7, A5 100| {& s &t
! FLYH 150 {& 5,230 kg
VLYY 250| {& B HEE iz = [ {HE 7,800 &
EERERS | vV1h, Kbt 100| {& fam wmEN #9741 300| 1@ 2,670 &
ETERS  [H, Havst 200| f& i) 150( & 1,100 #% HFEE
Kig LYot & EES 200 & 4,800 t &RER
=¥ 7. 77414 400| {& HE 100| &
R 200 & xR #1937, Kib15+ 350| 1@
o 600| {& 100 444 200| 1@
SIERE  |1775 100| {& R #9741 100| &
bl EUREZENS 700| & B 5%+ &
ARER &7 1,420| & B FEEF51 7')5 250| &
X5 AN sEonst 500( kg HE #9741 200| {8
Eig NiE bryoml 50( ke Rk WWHEE Lyask 200| {&
S HoHE  [BANAN 500/ {& (il]=] 43— TyaA945k 100| 1&@
B 550 kg B Wtq S22, 150| &
3,300 1@ WAF 930154 300/ {&
1,420 & it 2,600 &
REs% iR fEEfATE AR
Eth HEE RiE B |me| fBE 5
FI& E FhvEst 600| {& RER
{EHR 4a, ¥)1h5t 100| {& Bt HEE g HE |uwe (EE
FI4SH IZMPYShSE 50| {& KA bi77::0) 8 =244 4,500| #&
REXR (-5 4 444 200/ {& st BNTY 300 #
EH ke BERBN [Av95  |Ehon'F 800( &
LLIlEs WhYES 300| {& =#5 #EEI2 100| &
x5 KRS N3{h5t 50| {& iGN Ny ENVF 150| &
P& SEAR 4 ke N2 w5t #5377 200| &
R V1= WYVEIDE =520 50| {& BEN KEMS | BEFS 500| kg
EiR RIR FAL15+ &
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